Prime Factorization

Factor Tree Notes

We can start our tree using any
factor pair of 48. Let's use 2 and 24.

We circle the 2 because it is prime, and
so that branch is complete.

Now we will factor 24. Let’s use 4 and 6.

Neither factor is prime, so we do not circle either.

We factor the 4, using 2 and 2.
We factor 6, using 2 and 3.

We circle the 2s and the 3 since they are prime.

Now all of the branches end in a prime.
Write the product of the circled numbers.

Simplify the prime factorization of 48,
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